[ Efficiency vs vertpos |
- 05

20
2 0.4
[S]
$0.35
Q
£ 03

1072 10 1 10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
=G —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
ICIeNd _,__ pQM_V0001_R000000001__Global__mkFitOLD-checkDet_ RECO

N 1.2

efticiency vs vert

=

230 =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05 " T T T
> E E E E E

0. 0.450 - preyees AR H R AR
S : : : :

B QA i

20350 SR S FRUR 5, SO ST
Py : : : :
c 0.3 ] B R
o :
2 :
E025 b o S R
5] :

0.2
0.15

0.1 H I
11015 SO SRR S0 o SRR S
o OF P
T 1 0 A
o 3

(0] S I Y . A SN P (| EPES-EEPERPR

°819 LO 15 20

Sim. PV z (cm)



	Contents
	Page 1


